The diagram below shows the typical stages of consumer goods
manufacturing, including the process by which information is
fed back to earlier stages to enable adjustment.

Write a report for a university lecturer describing the process
shown.

» You should write at least 150 words.
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The given diagram shows the steps of the consumer products
manufacturing process.

It is clearly shown in the diagram that goods manufacturing is a complex
process from collection of raw materials to the end product.



As the process clearly shows the first stage of product development is
collection and storage of raw materials and manufacturing components.
The second stage involves designing of the products and production
planning and it’s a lengthy process which includes supervision and
monitoring designing progress frequently, and before market surveys, it is
necessary to test the product to be aware the quality of the product. If the
product is quality wise good then the next stage is packing of the products
and make advertising for sale. In this production and manufacturing
process, there are mainly two types of processes- the flow of manufacturing
process and the flow of information feedback.

In summary, it is value chain development process that starts from
collection of raw materials to the end or final product for sale, in each stage
of this manufacturing process value is added to products.

The diagram below gives the information about the Hawaiian
island chain in the centre of the Pacific Ocean.

Write a report for a university lecturer describing the
information shown.
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The map portrays the Hawaiian island chain, which is located in the heart
of the Pacific Ocean and roughly 2,700 kilometres in length.

As is presented, it is formed of volcanoes and the active ones are at the
south-east tip of the archipelago, where Hawaii itself is situated. It also



shows the how the volcano eruption occurs.

It is pointed out that the chain began to form almost 80 million years ago
on solid dense rock bed and each island started to evolve after an eruption
on the seafloor. First, a “hot spot' existed on the ocean bed, which let out a
plume of the material called 'magma’. Further, hot spot remained stable.
Hence, magma spume was formed. This magma may originate as deep as
2,883 km below the ocean bed. Next, further eruptions took place, which
built up the volcano. Eventually, it emerged above the surface of the ocean.

Afterward, the spume of magma has remained immobile as the Pacific
tectonic plate moves in a north-west direction across it at an annual speed
of 7-9 centimetre. As it moves, a volcano forms as it passes over the hotspot
and then become inactive when it has passed it. The other major islands in
the Pacific Ocean are Niihau, Kauai, Oahu, Molokai, Maui, Lanai and
Kahoolawe which are 0-100 kilometres away from each other.

The map below is of the town of Garlsdon. A new supermarket
(S) is planned for the town. The map shows two possible sites for
the supermarket.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

» Write at least 150 words.
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The given map shows two possible locations for the planned supermarket in
Garsdon City. As is presented in the illustration, the city has a population of
more than 65 thousand and the two possible locations for the supermarket
are near Hindon area and in the middle of the industrial area.

Overall, the first location (S1) would be both away from the town centre and
out of the crowd, which would be more convenient for the citizens of
Hindson area, while the second location (S2) would be advantageous for
the people of Bransdon and Cransdon area.

According to the map, the railway surrounds the city and intersects the city
almost in the middle. There are main roads for transportation and
countryside surrounds the main housings and industries of the city. The
housing of the city is mainly in the North and South sides of the city and the
town centre is in the middle of the industrial area. The first possible
location for the planned supermarket is near the Hindon area where almost
ten thousand inhabitants live and the location is in the north-west corner.
This location would be ideal for the Hindon people for shopping but the
people of Crandon and Brandon, which have great more population, would
be far away from this supermarket. The second possible location which is
almost in the centre of the city would be surrounded by industrial zones



and housings in the North and South sides of the city. This would be an
ideal place as it would connect all the shoppers in the three parts of the city.
Since the railway passes near this location, this would be a better place in
terms of communication as well.

The diagram below shows how the Australian Bureau of
Meteorology collects up-to-the-minute information on the
weather in order to produce reliable forecasts.

Write a report for a university lecturer describing the
information shown below.
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The illustration provides information about the process of collecting
current and reliable weather forecasts and then broadcasting this to mass
people which are conducted by the Australian Bureau of Meteorology.

As can be seen, this process needs some equipment to gather news forecasts
and three main sources, such as satellite, radar, and the drifting buoy is
used for collecting weather information.

To begin with, the satellite is used to capture images of Australian weather
from the outside of the planet. Meanwhile, radar can give screen pictures
while a drifting buoy which is placed on the sea reveals a synoptic chart of
the Australian climate.

Subsequently, all of the information is analysed to know the real weather
condition in Australia. After that, these data are put on the computer to
prepare the report for the public broadcast. People will know the weather
forecasts in Australia through various media, in particular, TV newsreader,
radio, and recorded announcement

The diagrams show a structure that is used to generate electricity
from wave power.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.
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The diagrams show the structure and processes of generating electricity
from the wave power.

As is observed from the presented illustration, the wave is used to produce
the electricity and both the tide and ebb the structure is used to rotate a
turbine to produce the electricity.

According to the given pictorial, the electricity producing machine works in
two ways. Firstly, the structure is placed near a sea so that the wave water
gets inside the chamber and creates an air pressure that would rotate the
turbine placed inside a column. The rotation of the turbine produces
electricity which is stored in the cells and this electricity can be passed and
used. The whole structure is placed near the sea, adjacent to a cliff or sea
wall.

The second illustration depicts how the electricity can be produced using



the ebb tide of the sea. During the ebb, the water gets off from the chamber
and the air pressure is created again from the opposite direction and this
rotates the turbine. The rotation of the turbine produces electricity and
supplies it to the storage.



